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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’,

"FVIEC

ir—o', "ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E1
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P6AE

BrE) | GEBATK (F) | EHRE(EH/AR) | EREE (G/R) [ KR R

07:40 333 160.0 0.314 5| FEAC07:40 KEIEFE CGRAEESE)
08:25 333 160.0 0.314 5| FHA@08:25 KENFEF (RAfEEIEE)
09:35 333 160.0 0.314 5| FMHA@09:35 KENFEF (RA{ERENER)
10:25 333 160.0 0.314 5| FEAe10:25 KEIEFE CGRAFESE)
11:10 333 160.0 0.314 = FHEA@11:10 KENFZEF CGRAMEEE)
11:55 333 160.0 0.314 & FiHfet11:55 KRHEIEF (REERES)
12:40 333 160.0 0.314 5| FEAe12:40 KEIEFE CGRAMFESE)
13:25 333 160.0 0.314 E(  FiHRe13:25 KREFEF CGRAERE)
14:10 333 160.0 0.314 5| FHAe14:10 KHEF (RAERESE)
14:55 333 160.0 0.314 5| FHAe14:55 KEIEFE CGRAFESE)
15:45 333 160.0 0.314 5| FHAe15:45 REEF (RAEESE)
21t 3663.0 (11)%) 1760.0 3 HKEC: 2080.0, PH: 5.5

#HEKRECE (2160.0 vs 4393.0) i d 5




FRV (ml plant-1)

ET (ml/hr/plant)

P6AE_E1, Day=63 (2025-06—07)
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P6AE

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:05 333 160.0 0.314 5| {Ri%@07:05 Bz (FRAERSE)
07:45 333 160.0 0.314 = {RRiB007:45 B (RFAKEE)
08:40 333 160. 0 0.314 E 1BRi&e08:40 Bzl (RAERE)
09:25 333 160.0 0.314 5| {Ri%e09:25 Bz (FRAERSE)
10:00 333 160.0 0.314 =l {Ri%@10:00 B3 (RAERSE)
10:35 333 160.0 0.314 = {RRi8010:35 Bz (RAEEE)
11:10 333 160.0 0.314 =l Rig011:10 B3 (GRAEESE)
11:45 333 160.0 0.314 =l {Rige11:45 B3 (GRAERSE)
12:20 333 160.0 0.314 S {Rige12:20 B3 (RAERSE)
12:55 333 160. 0 0.314 E| {Rige12:55 Bah (RE{ERSE)
13:30 333 160.0 0.314 F BRi%e13:30 Bz (GRAERSE)
14:05 333 160.0 0.314 S| {Rige14:05 B3 (REAERSE)
14:35 333 160. 0 0.314 E BRige14:35 Bz (GRAERESE)
15:05 333 160.0 0.314 F BRige15:05 Bz (GRAERESE)
15:35 333 160.0 0.314 = {Rig@15:35 B (RAERSE)
16:10 333 160.0 0.314 E BRige16:10 Bzl (GRAERESE)
2it]5328.0 (167%) 2560. 0 3203 KEC: 2080.0, PH: 5.5

AREHTERRA (0.91) , BEE

MEREHERE STHAEARS (296.0 : 163.0), AIREKREERE
BRIASERRIERE163. 0 ml.

FEERECE (2163.0 vs 4262.0) i3

LRGEEIPH (6.5) H5i&E@E (5.5) REKKA, BT,
LRGERIPH (6.5) SHRAVEEW (5.5) RERK, FRE.



P6AE_E1, Day=62 (2025-06-06)
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